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meaning of one’'s response. Problems in recalling events over a period of a vear also
lead to inconsistent responding on stress scales, thus lowering their reliability.

Based on the information in paragraphs 1 and 2, what can be inferred about a person with
a score of 30 on the SRRS?

1) This person has a greater possibility to be ill than a person with a 20 score.

2} A person with a higher score will experience less stress than this person will.

3) It is likely that this person has not suffered any major problems in the past year.

4) The amount of positive change is greater than that of a person with a score of 40.
Where in the passage would the following sentence best fit?

“This sum is an index of the amount of change-related stress the person has recently
experienced.”

1) [A] 2) |B] 3) [C] 4) [D]
What does the word “they™ in paragraph 3 refer to?

1) events 2) changes 3) amounts 4) outcomes
The word “diverse” in paragraph 3 is closest in meaning to -----———----- ;

1) steady 2) limited 3) necessary 4) different

The author uses divorce as an example to show --—————--— i

1) the numerical value for a stressful event on the SRRS

2) the subjective importance of a situation listed on the scale

3) how most people respond to high stress situations in their lives

4) the serious nature of a situation that is listed as a stresstul event

How does the author demonstrate that the response events on the SRRS are not consistent?
1) By giving examples of responses that are confusing

2) By comparing several ways to score the stress scales

3) By asking questions that could be answered in more than one way

4) By suggesting that people do not respond carefully
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